B 5 Bl AW LA Vi e 1Y SFIG | FHEIPAH L
1 piott PR FeRY 8 "é‘fg (FF > %273) ¢ 2 s g 2, 200 0 0
2 piclt |PRCFLRTYE R EE (- - ) @2 4?2 4,850 | 4,850 4000
3 Biol (DTS L i8¢ rr4 Rt st fEaa 4 b 8,882 | 4,882 4084
4 Bolt |[2EERE i8¢ Pi kgD piEH 6, 000 0 0
5 Boolt |[2EERE iS¢ (2% 4 ki) 4,000 | 4,000 4000
6 LT L Y Y FJ PRI B 8 % B R 9,005 | 5,000 5000
7 Boplt |omy i ise R 110,110 0 0
8 Boolt |omE e #E R 150 150 0
9 pisl |wmE kg e i & 4,864 | 4,864 4864
10 Boolt |omE e i+ ¢ 3,600 0 0
11 Boplt |omy il ise 9% B % 28, 000 0 0
12 pont |wmE kg e e 4,448 | 4,448 4084
13 Bol [wmEx g g Bl PRFE 9,500 | 5,000 5000
14 pol [HRECS L iFE Pi < ¢ FpER 2,800 0 0
15 pinlt MR E L LFE 2 ¥ 6,800 | 6,800 4000
16 Biok [HRECS kA FE Jop gk TE ) Ta ) g 5,000 | 5,000 5000
17 pictk |#EAEF R LEE i L & 0 0 0
18 pislt |#EAEE L LFE Hr4g 0 0 0
19 piet [MEETFREITE L AEE (WA iR g THRER 800 0 0
20 Boolt | e TFRELEE L iE e |vmirn Y- TRILGEN L 33, 000 0 0
21 Biet [AEBTAEEH L B E [ TEgnE b 2,800 | 2,800 2800
22 Biot (MEFTFAEIFE L iEE (WA KR A E— Dokt 300 0 0
23 Aot (MEETHEITE L iHE @u— py- rr‘gkiv’ét~vr?!!!!!!! 13, 490 0 0
24 Aot [MEeB TGl vH & 1B E [dda-Tm :%M, 5 5,708 | 4,000 5708
25 pett (e TR eI E L 8 e |umda-T3pta «H\x | 4,085 | 4,000 4084
26 Aot | eBTFALE 1 EE L iH e |4 EDIY- rﬁ_t_téf%ﬁ 4,125 | 4,125 4125
217 piot |EEALIRESAES LT EI3-] F6 i WA FHE B § 2,600 0 0
28 piett |WRESAIRFESAES LR eI ¥ S T ) Tar ) ] 5000 | 5000 5000
29 Bsld éﬁﬁﬁjz?aéié‘f A8 el113-158 s AT TS ¢ 2, 600 0 0
30 T . T L L a3 7, 360 0 0
31 TR T T N Y Bk LR 41, 660 0 0
32 Biol (AR SANs i8¢ Frpgte g 2,000 | 1,000 1000
33 post |BaE k8 E B2 R 12,100 | 5,000 5000
34 poslt |y s e FFEREER 6,000 | 6,000 6000
35 piott |[FRaEYE N A E BEr®  BEed p go 37, 370 0 0
36 piot |[FAR*S 5 i8¢ TR i g 3, 200 0 0
37 pinlt |FRETE L EE AW T RS AT 21,976 | 10,000 0
38 sl **m}@’» ERRE Y T e 2, 600 0 0
39 pclt |[Faprgrise BN EF R TR 5, 000 0 0
40 poolt |dmE ke 113-181® s s+ & 1, 600 0 0
41 piclt |FRE L EH ¢ CRpem 4 BFe® po o | = % B £ ¥GT 37,370 0 0
42 piolt |BeE L iE ¢ T | ASEAT-H A % § FHIRP 606 0 0
43 piclt |FLHE L EEE TEBFHAD LS b ik 4,753 | 4,000 4000
44 pnlt |BeE L iE¢ TTE %4 | 85 RA 19, 000 0 0
45 piclt |FLHE L EEE "D HF A E 0 0 0
46 Bl RS L kB¢ BRORAR R 4,284 | 4,000 4084
47 AT EAE B¢ #i L & 4, 400 0 0
48 poolt |Rromg s e A 1, 200 0 0
49 I T Y 9% B % 9, 440 0 0
50 | rarlr [z wga 113-1 #4~ = & 1, 800 0 0
51 | pRARf |z 4F S 2024¢ £k E0E WA L § 8,500 | 8,500 0
52 | rari |z g 113-1 %+ ¢ 1, 800 0 0
53 | marlr [z e HA Laiadgeer 8] addn 5,000 | 5,000 4084
54 | pRAlE |7 A3 RiEH Ty 2,000 | 2,000 5000
55 | R |7 A3 RiEH -p¥ (=) 10,905 | 5,000 5000
56 | pRaslr |7 A3 RikH HiFh L § 840 0 0




113-1 A BEFIEE A2
B Bl ALE LA E# A P e sl Pt A
57 JRARE | P P F 3 PRI Lo EBEER 300 0 0
58 | pRARE | T b A 1R B 4 2 R 5,320 | 5,000 5000
59 | prarp o o 1R AR~ ¢ 790 0 0
60 JRARE |7 b A1 JRARR LBl R D 21,630 | 5,000 5000
61 AR |7 b A1 R -p¥ (=) 9,648 | 5,000 5000
62 | prarp |BkiBume TaEr il (WAt g 1, 040 0 0
63 | pRamp Wk Feaye T Ee i (1131 80 (o) 5,072 | 5,072 0
64 | prarp |Bki B TxEe il [113-1 360 ] (2) 5,072 | 5,072 0
65 | prarpr |ekABeme T Ez i [113-1 460 (=) 5,072 | 5,072 0
66 | prarp |Bki By TxEe il [113-1 380 ) (2) 5,072 | 5,072 0
67 | prarpr |mkispme Tzl (A ¢ 1, 040 0 0
68 | pmarpr [k < B x pRiaAL (B2 g2) BuT %5740 8,000 | 5,000 0
69 | JRAREE | Mk < 8 o 3 AL (B 5 - 0de) b PsT 3R 8,000 | 5,000 0
70 AR |k < B o X pRGRAL (& i) pru]T ‘i@ﬁv g 12,000 [ 10,000 0
71 PRt | Ak X o 3 pRAAAL (2 F% %) ROEBE 14,300 | 10,000 0
72 | pmarp [k < B x pRgaL (frax) &= /@r;-:ﬁg_— < gam &) 30,000 | 8,000 0
73 | R Ak B ELa PG 2,500 | 2,500 2500
74 | pparp |RkimEia PA~ % ¢ 150 0 0
75| map ek EELM All Pass#Exi & 2 2,500 | 2,500 2500
76 | pRarp |RkimEia R T 4,184 | 4,000 4084
77 | pmap |ekA®EL0 BT R IP ¢ 4,184 | 4,000 4084
8 | map |Pog it 4 6,544 | 6,424 6424
79 | raxp [Pog 4 &G dcL 8 DIV 2 ade 7,704 | 17,584 7584
80 I | & P % ¢ 400 0 0
81 R [P o g 54 Rl 6,544 | 6,424 6424
82 | marp |iog T 400 0 0
83 | marir [P g = 0 R Tl 4,204 | 4,080 4084
84 | marpr [P g T 7B 4,204 | 4,080 4084
85 | pmarpr [max Ak P+ ¢ 1, 600 0 0
86 | pmarp [mit i MR kB 13,686 | 13,686 | 13,686
87 | mmarpr [mx st A ek 5 13,686 | 13,686 | 13,686
88 | mrarp [mit i Ik AT 13,686 | 13,686 | 13,686
89 | mmarpr [ma st Pr+e 1, 600 0 0
90 B |k A p]iEAL T 3,300 | 3,300 3300
91 B |k A 4] iFAL T 8,000 | 8,000 8000
92 B |k A p]iEAL oA A TALE A & ¢ 1, 320 0 0
93 B |k A 4] iFAL oA A EALE &+ ¢ 2,900 0 0
94 | B EE |k A 4]iFR D T 4,998 | 4,998 4084
95 B [ kL B P+ ¢ 1,000 0 0
96 B |4k H i BAL fTE 2,500 0 0
97 | map Ak B PP 1,000 | 1,000 1000
98 BEp Ak Fi i ki g 1, 000 0 0
99 | B fip | ik W2k E -4 1,625 0 0
100 | $ e |2 8 4.8 1,000 | 1,000 1000
101 | g pee 12 0 ey 16,338 | 16,338 | 8169
102 | 8k H|F 8 A BRI K E# R 16,338 | 16,338 | 8169
103 | B 4|2 84 X ok 10,945 | 10,000 | 7000
MErEa e + $+Christmas U 5,680 | 5,000 5000
105 | 8 jhe gl |F @ A2 38 Ada 24,000 | 8,000 4084
EEE TR L R Ak B 35AT. 9,190 | 9,190 9190
107 | B | A g ILP 5 AL s kY 6,000 | 2,880 2880
108 | Hjir> £ |k 4 & &g T TS LS s 995 995 995
109 | 5 e Fp | # kL %‘3““ oA NE 2,100 | 2,100 2100




B Bl AW LA A Y EPR | ga s s
110 | B e~ it | rertid TN 4,000 4,000 4000
111 | # ez i [reetis vt E ED B 5, 520 5, 520 5520
112 | Bie> F i [reetid Bk ¥ fF 8,168 | 8,168 8169
113 | e i [reeis Hikenrts B 8, 000 8, 000 8000
114 | Bie> i [reetis EFE L 10,211 | 10,211 8169
115 | 8 s> # | & #oik AR HT - pFl 5,000 0 0
116 | #iv> i | & fois EFHB KT - P Y2 5,000 0 0
117 | 85> # | & #ok AR KT - P F3 5,000 0 0
118 | #ibv> i | & i EFIRB KT - P A4 5,000 0 0
119 | &> #F &40 Lycfa %7 - p Y5 5,000 0 0
120 | 85> | £4 113-1 R & AtAt i 4, 000 4, 000 4000
121 | a5~ Fi |[R 84 113-1 &t 4 ¢ 4, 000 4, 000 4000
122 | 55> E i | R84 113-1 R &at 4~ % ¢ 0 0 0
123 | a5~ F i R84 113-1 B Ak A 20425 64,326 | 16,338 | 16338
124 | 5 5> £ | R 2 113-1%d 8 ¥ M& 2 8,000 8,000 8000
125 | B e~ # i | F % 13-1R &AL &+ %5 % ¢ 7,000 7,000 7000
126 | 5> F | R84 113-1 R & %+ ¢ 0 0 0
127 | e~ Fp (25 F 4L 23 g8 kT e 11,440 | 5,000 5000
128 | S e~ Fp |44+ 4L Hpeird E-Ep L il s 5,500 5,000 5000
129 | e~ Fp |24 £4L Hir2 -4 - Frd b SHRER 4, 469 3, 993 3993
130 | #br= Fipr (2 3 &4 VOE G B AL 22,464 | 16,338 | 16338
131 | g = g |5 240 A% —Apd SRR 4,140 4, 000 4000
FIEr e 2 s g 4,500 4, 000 4000
133 | g = g |5 a0 Pi+ ¢ 2,500 0 0
134 | 8 pes g1 |5 g A BT Y 16,338 | 16,338 [ 16338
135 | ke i |5 g Pope -5z ok 22 720 0 0
136 | & i~ 442 |5 A S N EE S 5 17,903 | 8,000 7000
137 | g = g |8 #at 2 wg -8 k%7 17,903 | 8,000 7000
138 | kv~ i[5 24 FEF LAl osz 7,943 7,000 7000
139 | s> i | § 24 HAE-%3 R 7,783 | 4,000 4084
140 | e~ (#3240 T 1,310 0 0
141 | = 82 40 REEARTEED S 16,338 | 16,338 | 8169
142 | 5 pe #1205 0 AP 2k am B 3% 16,338 | 16,338 | 8169
143 | g e= s |82 42 B Damn &° - £ 5, 000 5, 000 5000
144 | mizeds |1 FRBEAmE & BEDHBIES » chin 5, 482 5, 482 4084
145 | mizpr (WA S B Eams e HiFFE > e 5 A4 5, 482 5, 482 4084
146 | mizri (45 A EEEH W% 6,000 6,000 6000
147 | mwl (L Fréndk 5B 4, 000 4, 000 0
148 | mpzepr |4 ¥ i % ¢ 3,000 0 0
149 | mzwi (4 3 Ak 2,400 2,400 2400
150 | mpzepr |4 254 Hi e 3, 000 0 0
151 | mizwi |FRA4 TH#F % i+ ¢ 1,200 0 0
152 | mzl |FR 4 R A 23,460 | 8,000 8,000
153 | mizwlp  |FR 4 TR | 99 R0V 6, 700 6, 700 6, 700
154 | mpzedt  |FR4 Thkenic | -R 63 RAEN SR 9,725 5,000 5,000
155 | #av4r |k Sprpi B | PR % B 9, 005 5, 000 5000
156 | #8~4 [@ k- Fpishi i e o A O 6,000 4, 000 4084
157 | #av4r [Aksppa PEIRALAL P T - R 22,963 | 16,338 | 16338
158 | #gv g [dskx gprhi Pk AL B & 3 0 0 0
159 | #av4r Ak sppa Prpivd 6, 349 6, 000 6000
160 | #gv g [k 5 R T 0 0 0
161 | #gv g Mk 5 R A 2 2,400 2,400 2400
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e B =Ly it a1 EPiG | &P 2%
162 M [# kA ARk p g 6, 000 5,000 5000
163 My | #kanrpad B BEE 4,284 4,284 4084
164 I e R R L - 33 TR AL AL B 3AR 11,232 | 11,232 11232
165 Mg |#kaizpad Brpird & 5, 000 5, 000 5000
166 BT W ki BEXELRE 12,640 | 10,000 8000
167 MY | ga A Es G LA 4,484 4,484 4084
168 M (g NIk e A ERE 9, 900 5,000 5000
169 M [Ea 113-18 sk d3se 2,700 2,700 2700




